KommniexcHoe TecTHpOBaHHe N0 aHIVIMHACKOMY SI3BIKY
6-7 Kiaacchbl

1. Official language of Ireland is ...

A) Celtic; b) English; B) Gaelic.

2. The highest mountain in the UK is ...

A) Mont Blanc; B) Ben Nevis; B) Mount McKinley.
3. British kings and queens are crowned at ...

A) Westminster Abbey; B) St Paul’s cathedral; B) Buckingham palace.
4. British football fans ...

A) are very quiet;

b) are the most indifferent fans in the world;
B) have a very bad reputation in Europe for their behavior.

5. Guy Fawkes Night is celebrated on the ...

A) 24" of December; B) 31 of October; B) 5" of November.
6. Mr. Harrell told us the reason ... some birds migrate: )
A) where; B) why; B) when.

7. Which sentence is correct?

A) Mrs. O'Connor finished reading the book Green Eggs and Ham.
B) Mrs. O'Connor finished reading the book Green eggs and Ham.
B) Mrs. O'Connor finished reading the book Green eggs and ham.

8. Guess the riddle:

The more you have of it, the less you see. What is it?
A) darkness; b) rain; B) snow.

9. The capital of Northern Ireland is ...

A) Belfast; B) Southampton;

B) Dublin; ') Saulsberry.

10. The London Underground is often called ...

A) the metro; B) the tube;

B) the box; I') the channel.

11. The beetles started their career in ...

A) London; B) Liverpool; B) Glasgow; I') Birmingham.

12. Martin brought dessert to the class picpic. He brought 3 batches of brownies,
17 blueberry pies, and 11 cherry pies. Each blueberry pie had 11 slices. How
many slices of pie did Martin bring to the picnic? :

A)321; -

B) 342;

B) 330;

') there is not enough information to solve this problem.

13. BriGepuTe HanGosee NoaXoAsiluee onMcande BpeMeHu Present Perfect:

A) peryspHoOe, IOBTOPSIONIeecs AeHCTBIE,;

B) nelicTHe, 3aKOBYHBINEECS K ONPEAETICHHOMY MOMEHTY B IIPOIIIOM;
B) neiicTBye, NPOUCXOMALICE B OMPENEIICHHbIN MOMEHT;

') neficreue, 3aKOHYMBIIEECH K ONPEIEIEHHOMY MOMEHTY B HACTOSAIIEM.

14. Guess the riddle:
I am round like an apple
Flat as a chip
I have eyes
But I can’t see one bit.
What’s this?
A) cheese; B) button; B) mushroom; I') rocket.




15. What is dark but made by light? \

A) a shadow; B) clouds; B) the sunset; T') the sunrise.
16. BoiGepHTe CPABHUTEILHYIO B PEBOCXOJHYI0 (OPMY NPHIATaTeIbHBIX:
A) oftener; B) oftenest;

B) more often; I') the most often.

17. Chose the proper translation of a proverb:

Buy the best and you only cry once.

A) O6xermuck Ha MOJIOKE, JyeIlb Ha BOAY.

B) Ckymno# niaTuT OBaXIpl.

B) Jlyume cuHnna B pykax, 4eM Kypaeib B Hebe.
I') B 3akprITHI pOT MyXa HE 3aJIeTHT.

18. Complete the sentence using a proper idiom:

...... , it became cloudy and began to rain.

A) As far as; B) As soon as;
B) For sure; I') All of a sudden.
19. Complete the sentence:
You will ...... news reports on the radio.
A) select; B) hear; ) know.
B) tell; ') write;
20. Chose the odd one out:
A) chin; B) forehead; IT) eyelashes.
B) cheek; I') thumb;
21. King Henry the 8" had ... wives:
A)2; B) 4; ) 8.
B) 3; )e;
22. The famous Globe theatre where Shakespeare staged his plays is situated in ...
A) Stratford-upon-Avon; B) Glasgow; J1) Winchester.
b) London; ") Liverpool;

23. Chose the second part of a popular literary hero «Peter ...

A) Duck; B) Pan; ) Poppins.
B) Pooh; I') Mouse;

24. What city is not in Great Britain?

A) Manchester; B) Washington; ) Sydney.
B) Winchester; I') Canberra;

25. John bought 3 packs of red bouncy balls, 9 packs of yellow bouncy balls, and
10 packs of green bouncy balls. There were 7 bouncy balls in each package. How
many bouncy balls did John buy in all?

A) 176; b) 183; B) 159; ) 154, 1) 126.
26. Chose the right phrasal verb «HaToaKHYTHCH HaY, « CTy4aiiHo BCTPETHUTH:
A) walk over; B) knock down; 1) come from.

B) come across; I') throw up;

27. Chose the right idiom meaning «BeIXogHO»:

A) dress up; B) get in; J) most of all.
b) how are you; I') end point;

28. Complete the statement:

London became a capital of England in the ... century.

A) 20™; B) 18%; B) 11%; ) 19% 10 178,
29. Chose the words which are used in the Past Simple:

A) yesterday; B) last week; ) in 1987.

b) centuries ago; I') at that time;

30. Complete the sentence:
Full English breakfast usually consists of ...... .

A) fruit; B) sausages; ) tea or coffee.
E) bacon; I) eggs;




